Section 2

Test 1
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ANSWER
Write in figures
thirty thousand and fifteen.
2006 — 600
3TENS and 6 FIVES =  TWOS TWOS
10.04 =  hundredths hundredths
56 x 20
36cm = m m
0850kg= g g
4.05 + 2.05
072 + 8
29+ 13 =7x
£0-95 = 3 TWENTIES +  FIVES FIVES
155 of £3-00 p
ANSWER

Find the product of 0.55 and 6.

(a) shaded
(b) unshaded?

(a)

What fraction of the square is

Find the total of
79p, 41p and 85p.

Write in 24-hour clock times
(@) 5 min to 9 in the morning

(b) 10 min past 10 in the evening.

By how many m is 2 km less than
2.350 km?

What fraction in its lowest terms is

10 out of 607

What is the cost of 2 m 10 cm at 40p

per m?

By how many kg is 1 - kg greater
than 350 g?

Find the total cost of 100 articles at

7p each.

What is the value in m¢ of the figure

underlined in 7.360 litres?

By how much is the total of 7 TENS

and 3 FIVES less than £17?

Write in figures to the nearest 100

twenty thousand nine hundred
and six.

(b)
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ANSWER

How many packets each containing
100 cards can be made from thirteen
thousand cards?

Find the change from £1 after paying
for 3 oranges at 29p each.

%of the mass of a container is 600 g.
Find its total mass in kg.

ABC is an isosceles
triangle. Find the
size in degrees of the
(a)angle at B (a)

(b) angle at C. (b)

W

Three bottles contain 1.3 litres,
0.9 litres and 0.5 litres.

Find in mfthe average of these
quantities.

A bus journey takes 47 min.

If a bus starts at 09.50, at what time

does it arrive?
40m » Find the width of

the garden plot.

>
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GARDEN PLOT
AREA 480 m?

The population of a town is 59 609.
Write this number to the nearest 1000.

The bus fare for a child is half that of
an adult.
Find the total fares for mother, father

m/{

and 4 children if a full fare is 54p. £

A plan is drawn to a scale of 1T mm to 50 m.
What length in km does a line

measuring 5 cm on the plan

represent?

40 tiles each 10 cm square cover a
surface exactly.
What is the area of the surface?

8cm gom
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RECTANGLE

6 cm

SQUARE

Which shape has the greater perimeter
and by how many cm? by

km

am
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1TmS0cem + 10 = om cm
tkg +375g= g g
7300 + 100 o
Fof£16 £
£3-00 - £1-13 £

450 km — 360 km km
£2-47 + £1:63 £

Al%m = mm mm
(7x8 — (5 x 8

25mmx 8= m cm

10.24 am. t0 12.10 p.m.
= h min h min

(30f42) — (30f 18)

Write the name of the coin which
nas the same value as £0-02 .

Write the next two numbers in this
series. 49, 42, 35, , .

i

Find the total of £2-36 and £0-99.

g :
75 of a sum of money is £45.
Find the whole amount.

£

Write in cm the length remaining
when 10 am is reduced by 55 mm. om

-
How many g are there in 15 kg?

@]

What is the difference between
47 and 4207

Six cost £2-16. What is the cost
of one? D

Write 250 mm as m. m

Add 2 times 910 5 times 9.

It 5 sweets cost 30p, what wili
15 cost?

1o

Xy
In the number 9440, how many times
greater is the 4 marked x than the
4 marked y?

Ao

11

.

In a class library there are 138 fiction
books and 144 non-fiction books.
How many books are there
altogether?

What fraction of 1 houris -

(a) 20 minutes (@) n
{o} 40 minutes? (b) h
8 kg 500 g is divided into 10 equal
gquantities. What does one of the
quantities weigh? g
How much
will 20

cans cost? £

How many hours will it take a car
travelling at 70 km/h to travel
280 km? n

By how many m is the sum of 870m
and 650 m more than 15 km? m

Which number when multinlied by
itself equals 647

mm 10 20 30 40 50 80 7}0?
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Write the length of a line 100 times

longer than the line YZ

{a) incm (a) cm
{b) in m. u
Lucy has three times as much as

Daniel who has 45p.

How much have they altogether? £

Thisisaplanof a
playground.

How many times round it
must the children run

in order to run 1 km?

70 ™

If % kg costs 40p, find the cost of
(2)100g (b)600 g. (a) D

Xy
in the number 6365, what must b._e
added to the 6 marked y to make it
equal in value to the 6 marked x?
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